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31. 1 hope to go to university.
Select the correct alternative to complete the sentence.

(1) a (2) an (3) the (4} no article

32. In this question out of the four alternatives choose the one which can be substituted for
the given sentence.

A pléce where bees are kept.

(1) Aviary (2) Archives (3) Apiary (4) Attic

33. I drank tea, it was hot.
Pick out the correct alternative to complete the sentence meaningfully.

(1) whereas (2) however (3) only (4) vyet

34. Pick out the meaning of the word “Bluebeard”.
(1) A person who has blue beard
(2) A person of noble birth -
(3) A squanderer who spends recklessly

(4) A man who murders his wives

35. Miss Florence Nightingale was the worst enemy of red tapism.
Identify the correct meaning of the underlined phrase.
(1) Delay due to office routine (2) Unpolished manner

(3) Impending danger (4) Colour of the tape
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36. ! wish I knew her native place.
Identify the meaning of the mood expressed in the given sentence.
(1) ardent desire (2) purpose of action
(3) request (4) improbable situation
37. There lived a great prince who was rich and powerful.
Identify the type of sentence.
C (1) Compound complex sentence (2) Complex sentence
(3) Compound sentence '~ (4) Simple sentence
38. Rani asked Raju to let her go then.
Pick out the correct direct narration of the above sentence.
(1) “Let me go now,” said Rani to Raju.
(2) “Let her go now,” said Rani to Raju.
(3) “Let me go then,” said Rani to Raju.
(4) “Let us go now,” said Rani to Raju.
c 39. Please wait. He can still came.
Identify the meaning of the modal underlined.
(1) possibility (2) ability (3) capability (4) request
40. The two friends fell ouf over a trifle.
Identify the meaning of the underlined phrase.
attack

(1) quarrel (2) happening (3) desert (4)
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41. Men may be cruel [ ] but man is kind [ ].
Complete the sentence using correct punctuation marks.
1 -1 @ [.-1 3) [:-1] 4 [-1
42, Choose the correct affirmative for the following negative sentence.
“None but the poor deserve help”
(1) The poor deserve help. (2) The poor deserve only help.
(3) The poor alone deserve help. (4)  Except the poor alone deserve help.
43. In this question out of the four alternatives choose the one which can be substituted for
the given Idiom/Phrase in the sentence.
I was taken aback when Sunil attacked me.
(1) To be taken backwards (2) To be pushed back
(3) To be caught unawares (4) To be thrown back
44. The prince was wealthy he was unhappy. Complete the sentence choosing
correct alternative.
(1) still (2) and (3) or 4) so
45. (a) He turned quickly.

(b) He turned quick.

Identify the correct sentence.

Answer options :

(1) Only (a) is correct. (2) Only (b) is correct.

(3) Both {(a) and (b) are correct. (4) Both (a) and (b) are incorrect.
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46. Mohanis certainly theablestboy intheclass
P Q R S
Pick out the correct word order to make the sentence meaningful.
(1) QPRS (2) PQRS (3) PRSQ (4) SPQR
47. (a) Ram is always hopeful for getting good marks.
(b) Ram always is hopeful of getting good marks.
Identify the correct sentence.
Answer options :
(1) Only (a) is correct. (2) Only (b) is correct.
(3) Both (a) and (b} are correct. (4) Both (a) and (b) are incorrect.
48. The underlined part of the sentence may have an error. Pick out the correct alternative to
make the sentence meaningful. If no error say so.
We have had a very enjoyable holiday last summer
(1) had (2) have (3) have been (4) no error
49. Please help him in his work.
Make passive of the sentence.
(1) He helps in his work. (2) Let him help in his work.
(3) One should be helped in work.  (4) He may be helped in his work.
50. If we wisely there would have been no partition.

Pick out the correct alternative to complete the sentence meaningfully.
(1) had acted (2) acted

(3) have acted {4) would have acted
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Read the passage and answer the following questions numbered 51 to 55 on the basis of
information provided in the passage.

Two principles are involved in the controversy about the presence of foreign controlled
media in the country; the free flow of ideas and images across national borders and the need to
safeguard the national interest and preserve cultural autonomy. Both are valid but both are at
loggerheads because each has been used to promote less lofty goals. The first principle conforms
to a moral imperative : freedom of expression cannot rhyme with restrictions imposed by any
government. But the free flow rhetoric also clouds the fact that the powerful Western, and
especially American media, can and often do present, subtly or brazenly, news in a manner
that promotes Western political, ideological and strategic interests. Besides, Western
entertainment programmes present lifestyles and values that run counter to the lifestyles and
values cherished by traditional societies. All this explains why so many Indian newspapers,
magazines and news agencies have sought protection from the courts to prevent foreign
publications and news agencies from operating in the country. Their arguments are weak on
two counts. As the bitter debate on a new world information and communication order
demonstrated in the late seventies and early eighties, many of those who resent Western ‘invasion’
in the fields of information and culture are no great friends of democracy. Secondly, the threat
of such an “invasion’ has been aired by those media groups in the developing countries that fear
that their business interests will be harmed if Western groups, equipped with large financial
and technological resources and superior management skills, are allowed to operate in the
country without let.

The fear is valid but it goes against the grain of the economic reform programme. The
presence of foreign newspapers and television channels will increase competition, which, in the
course of time, can only lead to the upgradation of dynamic Indian newspapers and television
channels, even while they drive the rest out of the market. One way to strike a balance between
the two antagonistic principles would be to allow foreign media entry into the country, provided
the Indian state treats them at par with the domestic media on all fronts. On the import of
technology, for instance, foreign media cannot be allowed duty concessions denied to their
Indian counterparts. Foreign medija will also have to face legal consequences should they run
foul of Indian laws. Why, for example, should the BBC, or Time magazine or The Economist get
away by showing a map of Kashmir, which is at variance with the official Indian map ? Why
should they go scot-free when they allow secessionists and terrorists to air their views without
giving the government the right to reply, or when they depict sexually explicit scenes, which
would otherwise not be cleared by the Censor Board ? Since the government can do precious
Iittle in the matter, especially about satellite broadcasts, what if it should consider attaching the
properties of the offending parties ? Demands of this kind are bound to be voiced unless New
Delhi makes it clear to the foreign media that they will have to respect Indian susceptibilities,
especially where it concerns the country’s integrity and its culture. It may be able to derive
some inspiration from France’s successful attempts in the recent GATT to protect its

cinematography industry.
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Choose from the given alternatives the best answer :

Why would the entry of foreign media harm local interests ?

(1) They are better equipped managerially and technologically.
(2) Our cultural heritage will be lost.

(3) Economic reform programmes will get a set back.

(4) Different sets of laws and rules have been made applicable for foreign media.

52.

Which of the following is one of the points weakening the argument to prevent the entry
of foreign media ?

(1) Such entry would be against traditional culture.

(2) The threat being voiced by those whose business will be harmed by such an entry.
(3) The arguments being put forth are at logger heads.

(4) The foreign media may not be treated on par with the domestic media.

53.

What will be the impact of increasing competition ?

(1} The domestic media will not be able to withstand it.

(2) The foreign media will not be allowed duty concessions on import of technology.
(3) It will improve Indian newspapers and television.

(4) The Indian newspapers and news agencies will seek protection from the court.

Which of the following is the meaning of the phrase ‘at variance’ as used in the passage ?
(1) discrepancy (2) atlarge
(3) in conformity (4) none of the above

55.

Choose the word or group of words that is most similar in meaning to the word given in
capital taken from the passage.

RHETORIC
(1) rhyming words (2) persuasive speaking
(3) dull monologue (4) tongue - in - cheek
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Read the passage and answer the following questions numbered 56 to 60 on the basis of
information provided in the passage.

i humans are naturally moral and reasonable, they should be able to get along together without
the state. Belief in progress and improvement in 18t century Europe made this ancient ideal
seem realizable.

In 1793, William Godwin (who later married Mary Wollstonecraft) proposed to abolish
all laws on the grounds that they were derived from ancient compromises, botched in a state of
savagery, that progress rendered obsolete. Small, autonomous communities could resolve all
conflicts by face-to-face discussion. The term “anarchism” was invented by Pierre Joseph
Proudhon, in 1840, to mean a society run on principles of reciprocity, like a mutual society.
Many experimental communities of this sort followed, but none on a scale to rival the
conventional state. Meanwhile, the socialist mainstream was seized by followers of the French
historian Louis Blanc, who put their faith in a strong, regulatory state to realize revolutionary
ambitions, and social democrats, who proposed to capture the state by mobilizing the masses.
Anarchists became marginalized as leftist heretics. Under the influence of Mikhail Bakunin’s
writings, in particular, they became associated with what seemed the only practical alternative
revolutionary program : violence by terrorist cells.

Peter Kropotkin was the last great theorist of anarchism. His Mutual Aid (1902) was an
effective riposte to social Darwinism, arguing that collaboration, not competition, is natural to
humankind, and that the evolutionary advantage of our species is our collaborative nature. So
social coercion is unnecessary and counter-productive.

Anarchism has seceded from the political forefront since failure in its last great battles,
fought during the Spanish Civil War (1936-39), against authoritarianism of left and right alike;
in the student revolutionary movements of 1968, it contributed rhetoric, but little effectiveness.
Its appeal has always been problematical because the whole Western tradition, since Aristotle
first exalted the state as an agent of virtue, has tended to denigrate anarchy. However, it
contributed reckless idealism to the ideological struggles of the earlier 20t century. It is possible
that the growing strength of concern for freedom on the political left in Europe in the late 20th
century was due less to the influence of the libertarian right (as is commonly supposed) than to
a lingering anarchist tradition. Certainly a preference for human-scale solutions to social
problems, rather than the grand planning advocated by communists and socialists of the past,
has become a major theme of the modern left.

56. Which was the rival society to the conventional state ?
(1) ancient society (2) the anarchist society
(3) socialist society (4) civilized society

57. Which of the following ideological formulations are against the state ?
(1)  Anarchist, democratic and revolutionary
(2) Socialist, ideological and leftist
(3) Leftist, communist and republican
{4) Anarchist, Socialist and Leftist
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58. Anarchist theory believes in
(1) collaboration (2) competition
(3) coercion (4) authoritarianism
59. What has become a major theme of the modern left ?
(1) revival of the anarchist tradition
(2) concern for freedom
(3) preference for solutions to social problems
(4) the state apparatus
60. The western tradition denigrated anarchy because

(1) it believed in authoritarianism
(2) it exalted the state as an agent of virtue
(3) it believed in liberalism

(4) it believed in social revolution

-000-
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